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AAHFE o|AAF), dYnIZHE 5/20¢ 2] 1 (G E2H AWM AL 6.944mg/ S AL E G =4
9 20mg)S Y FFY FHSIFAL-AANFA ABEA2FAZE YT FstE FEOEA F
Dokl gr=mrholol R4k (F), MBI 5/208 ] TH(YEH AN AT 6.944mg/ SHALE
g =41 20me)d BEAFEAH S AU

1. AESHFTFTHAIF B3 A=
A@eF en7g 5720 ] 1T (o] AA k(7)) thxoF AlRZHE 5/20E 2] L (Fk=mtho] o] A 4k
(F)= 2x2 AN F O 2 ZFH1AA 173g ARloA &5 Al @3] FFFAste 5 d=HA 9 &1
A2 kS =43 A3}, 379 9] Bl 2 H 75X (AUC, cmax) 2935t EAA SRS u, HFX
212] 90% 21 #7370 log 0.8 A log 1.25 o 24 A ESH 02 F53S AF3A

2
B 2 % 7} &) 5 I A )
T (Amlodipine AUC 48 Conax
( P (ng-hro/ii?L) (ng/mL) Tinax(hr) ti/a(hr)
MBI7HA 57208 8 1
o) zoF (@rho] o] A At )) 107.8+22.50 317540575 | 5.00(5.00-800) | 34.68+6.37
Aoy | BHFIZHE 5208 110.0+19.60 314740512 | 500(5.00-8.00) | 34.79+6.01
7 (1A ) 0419, 14740, .00(5.00-8.00) | 34.7946,
90% 4= 31
(1% - log 08 ~ log 125) log 1.001~1.0518 | log 0.9741~1.0145 - :

(AUC, Chay ti2 ; BO#BEETZHAL, Tha ; 5 B(E$1), n=37)
AUCt. FRAMRE HFTETEE AHAL A9 FF=- AT H A

Crax : HALEFTTE

Trax : HLEFTTE ESGAZT
tip : T & ¥
* M AP 7IEEXE RN PR 2] 90% 4 = Tk



Bl 23y 7} g Fag e
T (Olmesartan medoxomil) AUCq 100 Croo
(ug7hi/m) (ng/mL) Tomltt) |t
AR 74 57208 8] 1
o) zoF (o] o] 3 44 L(F) 3.255%0.665 537.9+9347 | 200(1.00-500) | 6.49+1.90
ol ] n A1 ] =
A & eF 4] ](Z]}o;’ xﬁ{)j(of);ﬂl - 3.270+0.525 554.9+102.4 200(1.00-3.00) |  6.69+2.17
it T
90% A= T-31* log
(71% : log 0.8 ~ log 1.25) log 0.9715~1.060 | ) 5077 0848 ) )

(AUCt/ Chnaxs ti2 5 %ﬂ_%}]\-i—%—%%i}/ Timax ; %OOL%}\-(HS‘KH)/ n=37)
AUC, : FARIRY ST = AL A9 S5 =-A054s14
Trax : HILEFTEE E2AZT
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